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𝑅$ 1.150,00−𝑅$ 1.000,00

𝑅$ 1.000,00
× 100% = 0,15 × 100% = 15%

𝑅$ 1.320,00−𝑅$ 1.200,00

𝑅$ 1.200,00
× 100% = 0,10 × 100% = 10%

𝑅$ 1.680,00−𝑅$ 1.500,00

𝑅$ 1.500,00
× 100% = 0,12 ×

100% = 12%

𝑅$ 1.320,00 𝑅$ 1.320 − 0,1 ×

𝑅$ 1.320,00 = 𝑅$ 1.320,00 − 𝑅$ 132,00 = 𝑅$  1.188,00 𝑅$ 1.320 − 0,2 ×

𝑅$ 1.320,00 = 𝑅$ 1.320,00 − 𝑅$ 264,00 = 𝑅$  1.056,00

𝑅$ 1.320,00 + 𝑅$ 1.188,00 + 𝑅$ 1.056,00 = 𝑅$ 3.564,00

 

 

 

𝑐 = 1 𝑓(𝑥) = 2𝑥 + 1 [𝑓(𝑥)]3 = 𝑓(𝑥3) [2𝑥 + 1]3 = 2𝑥3 + 1
8𝑥3 + 12𝑥2 + 6𝑥 + 1 = 2𝑥3 + 1 6𝑥3 + 12𝑥2 + 6𝑥 = 0 6𝑥(𝑥2 + 2𝑥 + 1) = 0

6𝑥(𝑥 + 1)2 = 0 𝑥 = 0 𝑥 = −1

𝑔(𝑥) = log(𝑥𝑓(𝑥) + 𝑐) = log(𝑥(2𝑥 + 𝑐) + 𝑐) = log(2𝑥2 + 𝑐𝑥 + 𝑐) 𝑔
𝑥 2𝑥2 + 𝑐𝑥 + 𝑐 > 0 𝑥

𝑞(𝑥) = 2𝑥2 + 𝑐𝑥 + 𝑐 𝑞(𝑥)
𝑞(𝑥) = 0

∆ = 𝑐2 − 4 × 2 × 𝑐 = 𝑐2 − 8𝑐 = 𝑐(𝑐 − 8) < 0 0 <  𝑐 < 8

 

 

 

(𝑎1, 𝑎2, 𝑎3) 𝑤 𝑎2 = 𝑎1 × 𝑤 𝑎3 = 𝑎2 × 𝑤 𝑎3 = 3

𝑤 = 2 𝑎2 =
𝑎3

𝑤
=

3

2
𝑎1 =

𝑎2

𝑤
=

3/2

2
=

3

4
(𝑎3, 𝑎4, 𝑎5) 𝑤 𝑎3 = 3

𝑎4 = 𝑎3 + 𝑤 = 3 + 2 = 5 𝑎5 = 𝑎4 + 𝑤 = 5 + 2 = 7 (
3

4
,

3

2
, 3,5,7)
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(𝑎1, 𝑎2, 𝑎3) 𝑤 𝑎1 = 1 𝑎2 = 𝑎1 × 𝑤 = 𝑤 𝑎3 = 𝑎2 × 𝑤 = 𝑤2

(𝑎3, 𝑎4, 𝑎5) 𝑤 𝑎3 = 𝑤2 𝑎4 = 𝑎3 + 𝑤 = 𝑤2 + 𝑤 𝑎5 = 𝑎4 + 𝑤 = 𝑤2 +

2𝑤 𝑎5 = 𝑤2 + 2𝑤 = 8 𝑤2 + 2𝑤 − 8 = 0

𝑤 =
−2±√22−4×1×(−8)

2
=

−2±√36

2
=

−2±6

2
= −1 ± 3 𝑤 = −4 𝑤 = 2

(1, −4,16,12,8) (1,2,4,6,8)

 
 

 

2×4

2
+

7×1

2
+

1×3

2
+ 7 × 3 = 4 +

7

2
+

3

2
+ 21 = 4 + 5 + 21 = 30

𝐵 = (5,0) 𝐶 = (4,3) 𝑚 =
0−3

5−4
= −3

𝑛 = −
1

𝑚
= −

1

−3
=

1

3
𝐴 = (−5,0)

𝑛 = 1/3
𝑦−0

𝑥−(−5)
=

1

3
3𝑦 = 𝑥 + 5

 

 

 

180𝑜 𝜃 + 2𝜃 + 𝛽 = 3𝜃 + 𝛽 = 180𝑜

𝛽 = 𝜃 𝛽 = 2𝜃 4𝜃 = 180𝑜 5𝜃 = 180𝑜 𝜃 = 45𝑜 𝜃 = 36𝑜

sen 𝜃

𝑎
=

sen 2𝜃

𝑏
sen 2𝜃 = 2 sen 𝜃 cos 𝜃 𝑐 = 2𝑎

cos 𝜃 =
𝑏

𝑐
𝑎 𝑎2 = 𝑏2 + 𝑐2 − 2𝑏𝑐 × cos 𝜃 𝑎2 = 𝑏2 + 𝑐2 −

2𝑏𝑐 ×
𝑏

𝑐
= 𝑏2 + 𝑐2 − 2𝑏2 = 𝑐2 − 𝑏2 𝑐2 = 𝑎2 + 𝑏2

𝑐 𝛽 = 90𝑜

  

𝐵𝑇𝐴𝐵 =

    2

1 0 1

0 1 2 0 0 ( ) ( ) ( )( ) ( ) .

1 1

p p

p q p p q qp p q p q p p q q p q p q p q

p q q

           

    
    
        
    

𝑝 + 𝑞 (𝑝 + 𝑞)2 ≥ 0 𝐵𝑇𝐴𝐵 ≥ 0 𝑝 𝑞
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𝐴

𝐴 (𝐴) = 1 × 2 × 1 + 0 × 𝑝 × 1 + 1 × 𝑝 × 1 − 1 × 2 × 1 − 0 × 1 ×

1 − 1 × 𝑝 × 𝑝 = 2 + 0 + 𝑝 − 2 − 0 − 𝑝2 = 𝑝(𝑝 − 1). 𝑝 = 0 𝑝 = 1 𝑝 = 0

0,

2 0,

.

x z

x y

x z q

 


 
  

𝑞 = 0. 𝑝 = 1

1,

2 0,

.

x z

x y z

x y z q

 


  
   

𝑧 = 1 − 𝑥

2𝑦 + 1 = 0 𝑦 + 1 = 𝑞 𝑞 =
1

2

𝑝 = 𝑞 = 0 𝑝 = 1 𝑞 =
1

2


